mean vertex volume [mm?]
left middle temporal cluster (residuals)

mean vertex volume [mm?3]
left parahippocampal cluster (residuals)

mean vertex volume [mm?]
right OFC/anterior insular cluster (residuals)

-
o
L

0.5

0.0 1

-0.54

0.6 1

0.3

0.0 1

-0.3 4

-0.6

o
&

0.0 1

-0.57

TD:r=-0.72 (p = 0.001)
DD: r=0.67 (p = 0.002)

-o- TD
-~ DD

-500 0 500
ROI volume [mm?] left anterior IPS

(mean-centered residuals)

TD: r=-0.81 (p < 0.001)
DD: r=0.45 (p = 0.064)

25 0 25 50 75
ROI volume [mm?3] right CA3
(mean-centered residuals)

TD: r=0.74 (p = 0.001)
e DD:r=-057(p=0.012)

-3IO (I) 3I0 6IO
ROI volume [mm?3] right subiculum
(mean-centered residuals)

mean vertex volume [mm?3]
right middle temporal cluster (residuals)

mean vertex volume [mm?3]

o
N
L

O

o
o
1

<
N
1

TD: r = -0.62 (p = 0.006)
DD: r = 0.47 (p = 0.042)

-500 0 500

ROI volume [mm?] left anterior IPS

(mean-centered residuals)

DD: r= 0.4 (p = 0.099)

-0.50

TD: r=-0.79 (p < 0.001)

—~
i)

®

-

S

v 0259 o

(O]

—

S

| -

(O]

—

n

=)

O 0.004

©

—

0

—

@

o

o o

= -0.254 . \\\
Q °

£ o
= -o- TD
g’ -~ DD

25 0 25 50
ROI volume [mm?3] right CA3
(mean-centered residuals)

mean vertex volume [mm?3]
right rostral middle frontal cluster (residuals

mean vertex volume [mm?3]
right lingual cluster (residuals)
: o
o

[=)
~
1

o
~
1

1.0 1

0.54

0.04

-0.5 1

-1.0

TD: r = -0.65 (p = 0.004)
DD: r=0.57 (p = 0.011) ®

-500 0

500
ROI volume [mm?3] left anterior IPS
(mean-centered residuals)

TD: r=-0.72 (p = 0.001)
o DD: r = 0.47 (p = 0.047)

- D
- DB

25 0 25 50 75
ROI volume [mm?3] right CA3
(mean-centered residuals)



